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RIZYF
&Gz % BT B |HC Z 1G|2G|3G| T |4G|5G|6G| T GT HG | HS | AVE
TOTAL | HG | HS

H

ja—

MEE ek |sr24]|5 1,188 ]214(612]173[219| 199(591|219(206| 202|[ 627] 1,218|219(627 | 203.00] 36

=H B | M H |15 1,089 1195|5721 201206/ 210{617| 198|172/ 197|562 1,179|210(617| 196.50] 55

Nt FISE | H#be (40] 922 [175]|493|215/197|201(613| 187 194/ 168|549 1,162|215(613| 193.66 | 64

KT #3h| M # (10 1,086 | 203 [ 579] 203(213| 193| 609( 209| 170( 158/ 537] 1,146 |213(609| 191.00| 72

NE IhE 1,073|195|537] 177 197| 193 567| 205| 182( 179|566 1,133 |205(567 | 188.83| 1

e B[ K % |15 996 [178]|503]| 183| 193] 172(548| 188|175/ 175/ 53¢ 1,086 |193(548| 181.00] 10

JIg Bk | mB®m |15 931 [173]|477] 171/ 168| 183(522| 162| 188| 149|499 1,021 |188|522| 170.16] 23

E3xk ERE |@m3—tk|20] 890 [204|511]172/175/224|571| 155| 144/ 140|439 1,010|224|571| 168.33] 132

o|lo|[~N]|lo|la[sr]w]|rn
=
H
o
o|lo|lo|o|lo|o|o|o|o|o

AdE FE | BE—k |15 017 |169]|491]174|180| 182(536| 141|146/ 184/ 471| 1,007 |184|536| 167.83] 65
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£ 5 & 3A9H FE19FRE
Bz K & | AT OB |HC 27777 1G|2G|3G| T [4G|5G|6G| T| GT |HG|HS| AVE | +
G | TOTAL| HG | HS
1| XT Z3a|m # [10] 6 |1,142|232|606]|206|242|188|636|175|212( 179|566 1,202 |242 (636 | 200.33
2 |t hE | M # [10] 6 | 1,075|247|578| 177|174] 176|527| 257| 152| 199| 608 1,135 |257 |608| 189.16
3 [/t fuZE | = 40| 6 | 879 | 173|464 167|207|210[584| 162| 160[213(535 1,119(213(584| 186.5
4 | FEEE f2# |5Ea5| 5| 61,081 [104]|573| 195/ 194) 199|588 193] 172{ 158|523 1,111|199 588 185.16
5 s ==|x = 15| 6 | 968 |187|500] 184| 202|168 554| 135| 167|202 504 1,058 202|554 | 176.33
6 | Il sk | mAam [15] 6 | 947 |174|501|173[177|141|491| 189|179| 178|546 1,037 |189(546| 172.83
7 | =H Z|m # [15] 6 | 938 |192|503]171[207|170|548| 150| 160| 170{ 480 1,028 |207 (548| 171.33
8 | Ex =i |m—|20] 6 | 856 |178|441]| 165|170/ 166/ 501| 154| 198| 123( 475 976 (198|501 | 162.66
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% B 2H23H
Bt K & [P OB |He 27777 1G|2G|3G| T [4G|5G|6G| T| GT |HG| HS| AVE | +
G [TOTAL| HG | HS
1 [mege B&x& |~ |0] 6 [1,201|238]|605|210|232|163|605| 146|212 238|59¢] 1,201 |238|605|200.16| 9
2 |y B= | x % |15| 6 | 1,095|217|556| 195| 226( 163| 584| 232| 200( 169|601 1,185 |232(601| 19750 17
3(HE Hh&E | M F# |10] 6 | 1,104 199|552] 192 188|202| 582 194 179| 209|582 1,164 (209 (582 | 194.00]| o
4 | KT 35| # # |10] 6 [1,098]|204|563]200|193|172|565|214| 199| 180|593 1,158 |214(593| 193.00] 28
5 | 5H E(m # [15] 6 | 1,064|231|567] 180| 186| 246|612 162|207| 173|542 1,154 (246|612| 192.33] 70
6 | B3 =& |mn—tk|20] 6 | 947 |200|506| 132 178| 191501220 179| 167|566 1,067 |220|566| 177.83 | 65
7 | @EB et |24 | 5] 6 | 997 [193|512] 198|175 154{527| 167|159 174/ 500 1,027 |198(527| 171.16 | 27
8 [N k| mBwm |15] 6 | 898 |178|480] 152/ 140[ 171| 463| 193( 178| 154|525 988 (193(525( 164.66 | 62
9 | sadk  FUeE |mm—k|15| 6 | 876 |194(464] 209|148 152| 509| 120( 160( 177| 457] 966 |209|509| 161.00| 52
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% B 2B9H K AP S#pe
[[EVivA B & Fr B |HC 2777 1G[2G|3G| T [4G|5G([(6G| T GT |HG|HS | AVE | =
G |TOTAL| HG | Hs
1 |tk hE | # # |10] 6 [ 1,307 256 |702) 219|266 | 247 | 732|235 213|187 | 635] 1,367 |266|732| 227.83 | 97
2 | KT 35| m # |10] 6 |1,300(256700] 192]| 246|192 |630(235]|229]|266|730] 1,360|266|730]| 226.66 | 100
3 |/t fuzE | =#me |40] 6 | 992 |177|505] 206 [ 217|202 | 625 213|201 [ 193] 607] 1,232|217|625| 205.33] 18
4 | 1e% BX| == |0] 6]1,193|235|612]202|210[ 200|612 188|158 | 235|581 1,193 |235(612| 198.83] 31
5 (=B = |m # |15] 6 1,094[201]|583]190|183| 183|556 |216(215|197|628] 1,184 (216|628] 197.33| 72
6 | @E8 & |5ray| 5] 61,121 [202]|575]192| 162|207 561|201 |191|198|590] 1,151 (207|590] 191.83 | 29
7N & med |15] 6 | 1,027 |212]|533| 178|227 (173|578 | 167| 189|183 (539] 1,117 |227|578| 186.16] 39
8 | st FlE [mim—ik|15] 6 | 995 | 201|509 147|168|216|531|185]|180|189|554] 1,085]|216(554| 180.83 | 23
9 | & EE |mu—ik|20] 6 | 948 |186|492]| 166|191 | 159|516| 206|172 174|552] 1,068 |206(552| 178.00] 36
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| K % | B |ro 2777 16|26 |36| T |46 |56 |ec| T| 6T |HG | Hs | AvE | +
G |TOTAL| HG | HS

1| KT 23\ M # |10] 6 |1,350(267 (695|257 222|206 | 685|181 (277| 267|725 1,410|277|725] 235.00| 40
2 | NE THh®R | M # |10] 6 | 1,191 |243(602] 195|184 | 253| 632|217 |212| 190|619 1,251 |253|632| 208.50] 13
3 | MER 18 |5eav| 5| 6 | 1,202|225(623] 175|230] 189|594 | 198|219 221 |638] 1,232|230(638( 205.33] 44
4 | 5H E|# # |15] 6 |1,083(227|596]| 188|211 |242(641|172(174]|186|532] 1,173 (242|641 195.50| 109
5 | B EJx || 0] 6 |1,165|225|664|225|224(215|664]195[115]|191(501] 1,165 (225|664 | 194.16 | 163
6 | it FE [mm—k|15] 6 | 1,071 |217|572] 161|221 | 162|544 | 232 158|227 [617] 1,161 |232|617| 193.50] 73
7 |t FoZE | =#sk |40] 6 | 917 [190(481] 230]195] 176|601 | 196 | 182|178 |556] 1,157 |230|601| 192.83| 45
8 | &% =m |ma—tk|20] 6 | 922 |191|503) 175|177 211|563 | 176|124 179|479] 1,042|211|563| 173.66] 84
9 |y E-|x % |15] 6 | 867 |168]|448]| 140| 183|141 |464]|182(145|166|493] 957 (183|493 159.50] 29
10 )llg & mEm [15] 6 | 859 |170(446]161(130| 167|458 185|164 [142|491| 949 |185(491| 158.16] 33
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£ 1 & 1RA12H *Fa—aF
IBRz| -k K % R & |HC 27777 1G|2G|3G| T [4G|5G|6G| T GT | HG| HS | AVE +
G | TOTAL [ HG | HS
1|1 3| KT =3h| M # |10] 6 [1,230]|267|622]277|184|191| 652|237 |223[178|638] 1,290 (277|652 215.00
2| 5| EBE EFXK| v |0] 6]1,290|245|661]210(206(245|661]216|210|203|629] 1,290 (245(661|214.99
3 | 11|y FE [mim—k|15] 6 | 1,134 239|603 165|193 | 218|576 (199 | 195|254 | 648] 1,224 |254 (648 | 204.00
4 | 8 | /vth FOsE | =z |40] 6 | 912 |176|462] 216187 (179|582 206|200 | 164 | 570) 1,152 (216|582| 192.00
5|7 | 5H B|m # [15] 6 11,017|201(552)177|174|159|510| 195|216 186(597] 1,107 |216(597| 184.50
6 | 10|+ zTHR | M # |10] 6 |1,044]|190|534]190| 191|183 |564|172|200| 168|540] 1,104 |200(564 | 184.00
7| 2 | @& £ |>c24|5] 6 |1,074(224]|590] 158|160 181]499| 229|204 |172]|605] 1,104 (229|605| 183.99
8| 9| sax| mawm |15] 6 | 941 |175|477|162|170|190| 522|180 (177|152 | 509] 1,031 |190(|522| 171.83
9| 4| BE-|x % |15] 6 | 872 |189|460]162|135| 160|457 |204|163|138|505] 962 |[204(505| 160.33
10| 1 | &% =& [mz—k|20] 6 | 832 |159|427| 154|157 | 154|465 145( 163|179 487] 952 (179|487 | 158.66




